2 SK“ 3 5 2 YUIUNFPYRIIMOSKHBRHR SIS (2-MOSII)

B E L ¥ B
O mE, BEEXAMvF/H . ¥A D mm
O XAyFrFL*¥al—4%,DC—-DCav<—4sH 10:!:0.3_i £3.2402 2.7+0.2
o
O E—# K547/ v e
D o
o -] L=
4
* iyﬁﬁ/ﬁﬁb‘o 3 -
o
, w
Bps(oN)=0.650 (1H# ) Tl
/11 z
- EFEEET F 4V ANBED, 5
S
|Yis| =655 (@H) 075+0.15 =
- BhERSMEND, 2.54+0.25 | 2.54+0.25
n
Ipss=300xA(HK) ( Vpg=500V) 5 Q o
——— S
- BRSBTS, TVAVRAY FEALTTE, =T1 23] :Lﬁ
<
Vip=15~35V (Vpg=10V, Ip=1mA) Loyt
2. Fudv
3. v-2
HMARKEH (Ta=25T) JEDEC —
EIAJ SC-67
= B £ 5 ' B BAO|XZE 2-10R1B
FLv 4 v . v - 2AHEEE Vpss 500 v
FuA v o~ MEBE (Rgs =20kQ) VDGR 500 v
¥ - b - v - ZHEE vVass +30 4
DC Ip 7
F v 4 v B K A
ARV 3 Ipp 28
#¥ A& #B K (Tc=250) Pp 45 w
F o+ v o x v B K Teh 150 T
=3 B B Tsig -55~150 c
RMEREY
H B L 57 & K s
Freviw.. r-2HMBER Rih(ch-c¢) 2717 T/W
Frvarnr - A5 HBRER Bih(ch—a) 625 C/W

COHBIIMOS METTOTHROOBRIBEIICTER LI,

362



25K1352

BEHEYE (Ta=25C)

-] B e 5 woE & # B | BE|REK| EE
¥ o - b B h B K I1gss Vgs=%25V, Vps=0V - — {£100 nA
F v 4 v L « ¥ % Ipss Vps=500V, Vgs=0V - — 300 | waA
v 4y v —AMBHKREE | V(BrR)DSS| ID=10mA, Vgs=0V 500 - - \
¥ — P L & B E Vin Vpg=10V, Ip=1mA 1.5 — 3.5 v
Fr4y v -2 v ER Rps(ON) | Ip=44, Vgs=10V - 065 [ 085 Q
ErFEEZET FIEYRA [ Yol Vpg=10V, Ip=4A 35 6.5 - S
A 7 = ® Ciss — 1300 | 2000
b # 7= g Crss Vps=10V, Vgg=0V, f=1MHz — 330 | 500 pF
H B 3 ' Coss . — 640 900

B B M t, LoV ID=4{"£73 — 7 15
2q v Fuy| FovAYEM| 1o, Yos OV‘I_L n=500 25 50
B Ml v @ s M| 1 ?, - 5| a0 |
AT ty, ty<<5ns
§—v 7 RH toff Duty=<1%, t,=104s  Vpp=200V| 60 | 120
¥ - A h B ¥ R Qg - 42 60
F—tr - v -2HBEHE Qgs VppS 400V, Vgg=10V, Ip=T7A - 20 - nC
Y- A FL4vyHERR Qgd - 22 -
V—Z - FLAVRSAF+—FOoREEHEYE ( Ta=25T)

®] B T 5 A T % # B E%R | B K| EA
FLUAy ¥ ER (E ) Ipp - ~ — 7 A
Fuv A4 v #HER (VR) IpRP - - - 28 A
F 4 & - F E B E VDSF Ipp="T7A, Vgs=0V - — -20 4
i =] % B fa ter IpR="T74, Vgs=0V - 350 - ns
# B M Z ® £ q dIpR/qy =1004 s - 30 | — | uc

363



